Math201.01, Quiz #1, Term 172
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1. [3 points] Find a Cartesian equation for the parametric curve and
sketch it indicating with arrows the direction on the curve as ¢
increases:

x =2 —sint,y = cost,0 < t < 3m/2.

2. [3 points] Find the length of the polar curve r = cos2 (g),O 8%

.
3. [4 points] Let R be the region that lies inside both curves r

V3cos6 and r = sin. Sketch the region R and find its area.

Good luck,
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Math201.02, Quiz #1, Term 172
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1. [3 points] Find a Cartesian equation for the parametric curve and
sketch it indicating with arrows the direction on the curve as t
increases:

x=vVt+1, y =Vt -1, Lt 1
2. [3 points] Find the length of the parametric curve
x=e‘4ety=85-32t0<t<3

3. [4 points] Let R be the region enclosed by one loop of the curve r =
4 cos(36). Sketch the region R and find its area.

Good luck,
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Math201.04, Quiz #1, Term 172
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1. [3 points] Find a Cartesian equation for the parametric curve and
sketch it indicating with arrows the direction on the curve as ¢
increases:

x=tan’t, y=2+sect, 0<t<mn/2

2. [3 points] Find the area enclosed by the y — axis and the parametric
curve x = 2t%2 — t,y = VL.

3. [2 points] Sketch the set of all polar points (r, 8) such that r < —2,
= =G0,

4. [2 points] Find the slope of the tangent line to the polar curve r =

8 ; :
cos(—s-) at the point corresponding to 8 = 7.

Good luck,
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